Opened:	December 16, 2015					
For:	Annual Contract for Lubricants - Rebid		NON-LOCAL Arguindegui Oil Company	NON-LOCAL Arnold Oil Company of Austin, LP	LOCAL Genuine Parts Company	NON-LOCAL Hays City Corp
6400000	200		15600 San Pedro Ave.	5909 Burleson Rd	6374 Rittiman Rd	dba Tex-Con Oil Co. 4906 Burleson Rd
6100006	898	VF Estimated		Austin,	San Antonio,	Austin,
ltem	Description	Annual Quantity	TX 78232 210-667-3004	TX 78744 512-476-2401	TX 78218 210-661-7700	TX 78744 512-441-1941
1 1a	Lubricants MIL-PRF-2105E Extreme Pressure Gear Lube, SAE Grade 85W-140 400 lb drum, price per lb Price Total Product Name Product Name Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid	14,000	\$1.14 \$15,960.00 Universal Gear Lubricant 85W140 1041296 Conoco 0% \$15,960.00	\$1.62 \$2,680.00 Chevron 85W140 RPM 85140D Chevron 0% \$22,680.00	\$2.36 \$33,040.00 Valvoline 826 Valvoline 23% \$32,379.20 102.8772%	\$1.15 \$16,100.00 Universal Gear Lubricant 402191 Conoco 0%
1Ь	Price Differential MIL-PKF-2105E Extreme Pressure Gear Lube, SAE Grade 85W-140 120 lb drum, price per lb Price Total Product Nambe Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	700	\$1.36 \$952.00 Universal Gear Lubricant 85W140 1041296 Conoco 0% \$952.00	\$1.92 \$1.344.00 Chevron 85W140 RPM 85140K Chevron 0% \$1,344.00	\$16,419.20 \$2.42 \$1,694.00 Valvoline 827 Valvoline 2% \$1,660.12 74,3824% \$708.12	\$1.48 \$1,036.00 Universal Gear Lubricant 402197 Conoco 0% \$1,036.00
1c	High Temperature Grease, Mystik JT-6 400 lb drum, price per lb Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	3,000	\$2.70 \$8,100.00 JT6 Hi-Temp JT6HTD Mystik 0% \$8,100.00	\$2.20 \$6,600.00 Mystik JT6 Hi-Temp 7086 Mystik 0% \$6,600.00	\$2.34 \$2,702.00 Mystic JT6 Hi-Ternp Grease 665005002020 Mystik 2% \$6,879.60 4.2354% \$279.60	Mystic JT6 Hi-Temp Grease 606051 Mystik 0% \$7,980.00
1d	High Temperature Grease, Mystik JT-6 120 lb drum, price per lb Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	1,000	\$2.76 \$2,760.00 JT6 Hi-Temp JT6HTK Mystik 0% \$2,760.00	\$2.25 \$2,250.00 Mystik JT6 Hi-Temp 7085 Mystik 0% \$2,250.00	\$2.41 \$2,410.00 Mystic JT6 Hi-Temp Grease 66500500203 Mystik 2% \$2,361.80 4.9689% \$111.80	Mystic JT6 Hi-Temp Grease 606003 Mystik 0% \$2,660.00
1e	High Temperature Grease, Mystik JT-6 16 ounce tube, price per tube Price Total Product Name Product Number Manufacturer Prompt Payment Discount Protent Detween Iowest responsible bid and local bid Price Differential	100	\$2.79 \$279.00 JT6 Hi-Temp JT6HTT Mystik 0% \$279.00	\$2.33 \$233.00 Mystik JT6 Hi-Temp 7080 Mystik 0% \$233.00	\$2.41 \$241.00 Mystic JT6 Hi-Temp Grease 665005002080 Mystik 2% \$236.18 1.3648% \$3.18	No Bid
1f	Diesel Exhaust Fluid (DEF) 1 gallon pail, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	100	\$2.72 \$272.00 Air1 YarDEF 1 gallon Mansfield Oil 0% \$272.00	\$3.45 \$345.00 Old World Blue DEF DEF1G Old World Mfg. Co. 0% \$345.00	\$3.99 \$399.00 Peak Blue DEF DEF003 Old World Industries 2% \$391.02 43.7574% \$119.02	No Bid
1g	Diesel Exhaust Fluid (DEF) 2.5 gallon container, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	5,000	\$8.19 \$40,950.00 Air1 YarDEF 2.5 gallon Mansfield Oil 0% \$40,950.00	\$3.10 \$38,750.00 Old World Blue DEF DEF256 Old World Mfg.Co. 0% \$38,750.00	\$3.60 \$45,000.00 Peak Blue DEF DEF002 Old World Industries 2% \$44,100.00 13.8065% \$5,350.00	\$3.56 \$44,500.00 Diesel Exhaust Fluid 702350 Lubriguard Skyblue 0% \$44,500.00
	Motor Oil Premium Synthetic Blend Motor Oil, GF-5, SAE Grade 5W-20 Bulk (transport), price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	10,673	\$6.76 \$72,149.48 Super All Season CO1040824B Conoco 0% \$72,149.48	\$8.26 \$88,158.98 Motorocraft Pemium Synthetic Blend 5W20 X05W20BSP Motorraft 0% \$88,158.98	\$5.68 \$60,622.64 Premium Syn Blend 220135 Chevron 2% \$59,410.19	
2b	Premium Synthetic Blend Motor Oil, GF-5, SAE Grade 5W-20 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	1,300	\$7.21 \$9,373.00 Super All Season Syn Blend 5W20 Conoco 0% \$9,373.00	\$9.72 \$12.636.00 Motorocraft Pemium Synthetic Blend 5W20DSP Motorcraft 0% \$12,636.00	\$6.52 \$8,476.00 Premium Syn Blend 220145 Chevron 2% \$8.306.48	

Opened:	December 16, 2015					
For:	Annual Contract for Lubricants - Rebid		NON-LOCAL Arguindegui Oil Company	NON-LOCAL Arnold Oil Company of Austin, LP	LOCAL Genuine Parts Company	NON-LOCAL Hays City Corp
			15600 San Pedro Ave.	5909 Burleson Rd	6374 Rittiman Rd	dba Tex-Con Oil Co. 4906 Burleson Rd
6100006	898	VF	San Antonio,	Austin,	San Antonio,	4906 Burleson Rd Austin,
ltem	Description	Annual	TX 78232 210-667-3004	TX 78744 512-476-2401	TX 78218 210-661-7700	TX 78744 512-441-1941
2c	Motor Oil, SAE 30 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	1,850	\$8.28 \$15.318.00 C01058923D Conoco 0% \$15,318.00	\$12.58 \$23.273.00 Chevron HD 100 - 30W 100HD30D Chevron % \$23,273.00	\$9.55 \$17,667.50 75127 Ashland 2% \$17,314.15	No Bid
	Percentage between lowest responsible bid and local bid Price Differential Motor Oil, 15W40 CJ-4 Valvoline Premium Blue Geo #70520 55 gallon drum, price per gallon Price Total Product Nambe Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	10,000	\$8.49 \$84,900.00 Guardo/NG 1045186 Conoco 0% \$84,900.00	\$11.00 \$110.000.00 Valvoline Blue Geo 15W40 VV70520 Valvoline 0% \$110,000.00	13.0314% \$1,996.15 \$10.99 \$109,900.00 Premium Blue Geo 70520 Valvoline 2% \$107,702.00 28.8575% \$22,802.00	No Bid
	Motor Oil, 15W40 CJ-4 Valvoline Premium Blue Geo #70520 Bulk (transport), price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	29,000	\$8.04 \$233,160.00 Guardo/NG 1045781 Conoco 0% \$233,160.00	\$9.37 \$271,730.00 Valvoline Blue Geo 15W40 VV705200 Valvoline 0% \$271,730.00	\$21,05.10 \$270,570.00 Premium Blue Gee 705200 Valvoline 2% \$265,158.60 13,7239% \$31,998.60	No Bid
2f	Motor Oil, SAE Grade 10W-40 12 / 1-quart case, price per quart Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	55	\$2.69 \$147.95 Kendall GT-1 40 10W 1057261 Phillips 66 0% \$147.95	\$1.78 \$97.90 Federated 10W40 1040Q Amalie 0% \$97.90	\$2.25 \$123.75 Napa Oil 75100 Ashland 2% \$121.28 23.8764% \$23.38	
	Motor Oil, SAE Grade 10W-40 5 gallon pail, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	100	\$12.26 \$1,226.00 Kendall GT-1 40 10W 1057263 Phillips 66 0% \$1,226.00	\$13.24 \$1,324.00 Castrol GTX 10W40 1040P Castrol 0% \$1,324.00	\$4.62 \$462.0 Valvoline 140 Valvoline 2% \$452.76	No Bid
	Full Synthetic Motor Oil, SAE Grade 0W-20 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	660	\$21.73 \$14.341.80 Kendall GT1FS 0W20 1057222 Philips 66 0% \$14,341.80	\$21.54 \$14.216.40 Castrol Edge ES 0W-20 ES020D Castrol 0% \$14,216.40	\$11.59 \$7,649.40 Napa Oil 7545 Ashland 2% \$7,496.41 6.1514% \$434.41	\$10.70 \$7,062.00 GT-1 Full Syn Motor Oil w/(TI) 403151 Kendall 0% \$7,062.00
2i	Full Synthetic Motor Oil, SAE Grade 5W-30 55 gallon drum, price per gallon Proteo Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	1,760	\$20.74 \$36,502.40 Kendall GT1F55W30 1057232 Phillips 66 0% \$36,502.40	\$18.30 \$32,208.00 Valvoline Syn TECH Maxlife 5W30 691759 Valvoline 0% \$32,208.00	\$11.59 \$20.398.40 Napa Oil 75525 Ashland 2% \$19.990.43 1.4125% \$278.43	\$11.20 \$19,712.00 GT-1 Full Syn Motor Oil w/(TI) 403101 Kendall 0% \$19,712.00
2j	Gear Lube Synthetic for Differentials, SAE Grade 75W-90 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Prompt Payment Discount Precentage between lowest responsible bid and local bid Price Differential	2,000	\$27.67 \$55,340.00 Triton Syn Gear 1062354 Phillips 66 0% \$55,340.00	\$29.80 \$59,600.00 Valvoline Syn Gearoi 75W90 VV70026 Valvoline 0% \$59,600.00	\$30.91 \$61,820.00 Valvoline 70026 Valvoline 2% \$60,583.60 19.5886% \$9,923.60	\$25.33 \$50,660.00 Triton Syngear FE TBD Conoco Phillips 0% \$50,660.00
	Gear Lube Synthetic for Differentials, SAE Grade 75W-90 5 gallon pail, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	50	\$28.87 \$1,443.50 GLFE 1061549 Phillips 66 0% \$1,443.50	\$32.32 \$1.616.00 Valvoline Syn Gearoii 75W90 VV723856 Valvoline 0% \$1,616.00	\$34.47 \$1,723.50 Valvoline 723586 Valvoline 2% \$1,689.03 33.3620% \$422.53	\$25.33 \$1.266.50 Triton Syngear FE 403062 Conoco Phillips 0% \$1,266.50

Opened:	December 16, 2015					
For:	Annual Contract for Lubricants - Rebid		NON-LOCAL Arguindegui Oil Company	NON-LOCAL Arnold Oil Company of Austin, LP	LOCAL Genuine Parts Company	NON-LOCAL Hays City Corp
						dba Tex-Con Oil Co.
6100006	898	VF Estimated	15600 San Pedro Ave.	5909 Burleson Rd	6374 Rittiman Rd San Antonio,	4906 Burleson Rd Austin,
Item	Description	Annual	TX 78232	Austin, TX 78744	TX 78218	TX 78744
		Quantity	210-667-3004	512-476-2401	210-661-7700	512-441-1941
21	Synthetic Gear Lubricant, SAE Grade 80W-140, Castrol Syngear or equal 55 gallon drum, price per gallon Price Total Product Name Product Number	475	\$28.67 \$13,618.25 Triton SynGear 80W140 1062352 Dirition CO	\$29.99 \$14,245.25 Valvoline HD Syn 80W-140 V/70045 V/7045	\$30.91 \$14,682.25 Valvoline 70045	\$25.41 \$12,069.75 Triton Synthetic Gear Lube 403051
	Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential		Phillips 66 0% \$13,618.25	Valvoline 0% \$14,245.25	Valvoline 2% \$14,388.61 19.2121% \$2,318.86	Conoco Phillips 0% \$12,069.75
	Synthetic Gear Lubricant, SAE Grade 80W-140, Castrol Syngear or equal 5 gallon pail, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	50	\$29.87 \$1,493.50 Triton SynGear 80W140 1053889 Phillips 66 0% \$1,493.50	\$31.25 \$1.562.50 Valvoline HD Syn 80W-140 VV700475M Valvoline 0% \$1,562.50	\$1,700.00 Valvoline 700475M Valvoline 2%	\$1,367.50 Triton Synthetic Gear Lube 403052 Conoco Phillips 0%
2n	Synthetic Motor Oil, SAE Grade 15W-50 Mobil-1 or equal 12 / 1-quart case, price per quart Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	125	\$8.75 \$1,093.75 Mobil 1 Full Syn 15W50 MOFS15W50 Exon Mobil 0% \$1,093.75	\$6.08 \$760.00 Mobil-1 15W-50 88861449 Mobil 0% \$760.00	\$7.49 \$936.25 Mobil 1 103537 Mobil 1 2% \$917.53 20.7270% \$157.53	No Bid
	API CJ-4 Diesel Engine Oil, 15W-40 Bulk (transport), price per gallon Price Total Product Name Product Number Manufacture Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	15,330	\$7.26 \$111,295.80 Fleet Supreme EC CO1052955 Conoco 0% \$111,295.80		Chevron	\$105,623.70
3a	Industrial Oil Hydraulic Oil, ISO Grade 32 Bulk (transport), price per qallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	2,500	\$6.33 \$15,825.00 Megaflow AW32 1055927 Conoco 0% \$15,825.00	\$5.13 \$12,825.00 Chevron AW32 Hyd Oil AW32B Chevron 0% \$12,825.00	\$5.23 \$13,075.00 Chevron ISO32 Chevron 2% \$12,813.50	\$6.32 \$15,800.00 Hydraulic AW 503130 Conoco Phillips 0% \$15,800.00
3b	Hydraulic Oil, ISO Grade 32 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between Iowest responsible bid and local bid Price Differential	900	\$6.78 \$6,102.00 Megaflow AW32 1055927D Conoco 0% \$6,102.00	\$5.65 \$5,085.00 Chevron AW32 Hyd Oi AW32D Chevron 0% \$5,085.00	\$6.55 \$5,895.00 Napa Oil 85-955 Ashland 2% \$5,777.10 13.6106% \$592.10	\$6.77 \$6,093.00 Hydraulic AW 503131 Conoco Phillips 0% \$6,093.00
	Citgo Hydraulic Fluid AW68 (Non-Conductive), Megaflow AW HVI 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	825	\$13.16 \$10,857.00 Megaflow HV1 AW68 1055913 Concoc 0% \$10,857.00	\$13.54 \$11,170.50 Chevron Rando HD268 RAW68D Chevron 0% \$11,170.50	\$7.43 \$6,129.75 Napa Oil 85-755 Napa Oil 2% \$6,007.16	\$8,175.75 Megaflow AW HV1 Hydraulic 502231 Conoco Phillips 0%
3d	Citgo Hydraulic Fluid AW68 (Non-Conductive), Megaflow AW HVI 12 / 1-quart case, price per quart Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount	813	No Bid	No Bid	\$2.30 \$1,869.90 Napa Oil 85-705 Napa Oil 2% \$1,832.50	No Bid
4 4a	Transmission Fluid Genuine Universal Tractor Hydraulic Oil, SB-100 or equal 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	1,760	\$7.76 \$13,657.60 Power Tran 1040629 Conoco 0% \$13,657.60	\$8.33 \$14,660.80 Chevron 1000THF 303D Chevron 0% \$14,660.80	\$14,396.80 Napa Oil 85-455 Ashland 2%	\$12,108.80 Power Tran Fluid 402111 Conoco 0%

Opened:	December 16, 2015					
For:	Annual Contract for Lubricants - Rebid		NON-LOCAL Arguindegui Oil Company	NON-LOCAL Arnold Oil Company of Austin, LP	LOCAL Genuine Parts Company	NON-LOCAL Hays City Corp
C40000C	200	=	15600 San Pedro Ave.	5909 Burleson Rd	6374 Rittiman Rd	dba Tex-Con Oil Co. 4906 Burleson Rd
6100006	898	VF Estimated		Austin,	San Antonio,	Austin,
ltem	Description	Annual	TX 78232 210-667-3004	TX 78744 512-476-2401	TX 78218 210-661-7700	TX 78744 512-441-1941
		Quantity	210-667-3004	512-476-2401	210-001-7700	512-441-1941
4b	Genuine Universal Tractor Hydraulic Oil, SB-100 or equal 5 gallon pail, price per gallon	50	\$8.81	\$8.95	\$8.90	\$7.5
	Price Total		\$440.50	\$447.50	\$445.00	\$379.00
	Product Name Product Number		Power Tran 10406298	Chevron 1000THF 303P	Napa Oil 85-405	Power Tran Flui 402112
	Manufacturer Prompt Payment Discount		Conoco 0%	Chevron 0%	Ashland 2%	Conoce 0%
	Total Cost with Prompt Payment Discount		\$440.50	\$447.50	\$436.10	\$379.00
	Percentage between lowest responsible bid and local bid Price Differential				15.0660% \$57.10	
4c	Automatic Transmission Fluid MOPAR ATF 4 or equal					
	55 gallon drum, price per gallon	3,500	\$17.95	\$19.23	\$19.09	\$7.6
	Price Total Product Name		\$62,825.00 Transguard ATF +4	\$67,305.00 Havoline ATF +4	\$66,815.00 Valvoline	\$26,635.00 Super ATI
	Product Number Manufacturer		TRD +4 Citgo	ATF4D Chevron-Havoline	352 Valvoline	40301 Conoco Phillip
	Prompt Payment Discount		0%	0%	2%	0%
	Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid		\$62,825.00	\$67,305.00	\$65,478.70 145.8371%	\$26,635.00
	Price Differential				\$38,843.70	
4d	Automatic Transmission Fluid MOPAR ATF 4 or equal					
	12 / 1-quart case, price per quart Price Total	362	\$4.98 \$1,802.76	\$4.80 \$1,737.60	\$4.80 \$1,737.60	\$2.72 \$984.64
	Product Name Product Number		Transguard ATF +4 TRD +4	Castrol Transmax +4 ATF4Q6	Valvoline 346	Super ATI 40301
	Manufacturer		Citgo	Castrol	Valvoline	Conoco Phillips
	Prompt Payment Discount Total Cost with Prompt Payment Discount		0% \$1,802.76	0% \$1,737.60	2% \$1,702.85	0% \$984.64
	Percentage between lowest responsible bid and local bid Price Differential				72.9412% \$718.21	
					\$710.21	
4e	Automatic Transmission Fluid, (Dexron VI) or equal 55 gallon drum, price per gallon	220	\$18.11	\$19.28	\$14.10	\$14.24
	Price Total Product Name		\$3,984.20 Versa Tran	\$4,241.60 Chevron Valvoline Syn Dex VI		\$3,132.80 Versa Trans LV AT
	Product Number		1061593	DEX6D	378	40334
	Manufacturer Prompt Payment Discount		Conoco	Chevron	Valvoline 2%	Conoco Phillip
	Total Cost with Prompt Payment Discount				\$3,039.96	
4f	Automatic Transmission Fluid, (Dexron VI) or equal					
	12 / 1-quart case, price per quart Price Total	200	\$3.59 \$718.00	\$4.52 \$904.00	\$5.59 \$1,118.00	\$3.8 \$778.00
	Product Name		Versa Tran	Valvoline Dexron VI	Valvoline	Versa Trans LV AT
	Product Number Manufacturer		1061410 Conoco	822405 Valvoline	370 Valvoline	40315 Conoco Phillip
	Prompt Payment Discount Total Cost with Prompt Payment Discount		0% \$718.00	0% \$904.00	2% \$1,095.64	0% \$778.00
	Percentage between lowest responsible bid and local bid				52.5961%	
	Price Differential				\$377.64	
4g	Automatic Transmission Fluid, Mercon V or equal 55 gallon drum, price per gallon	220	\$17.17	\$14.83	\$16.82	No Bi
	Price Total		\$3,777.40	\$3,262.60	\$3,700.40	
	Product Name Product Number		Versa Tran 1055514	Motorcraft Mercon V XT5DM	Valvoline 320	
	Manufacturer Prompt Payment Discount		Conoco 0%	Motorcraft 0%	Valvoline 2%	
	Total Cost with Prompt Payment Discount		\$3,777.40	\$3,262.60	\$3,626.39	
	Percentage between lowest responsible bid and local bid Price Differential				11.1504% \$363.79	
4h	Automatic Transmission Fluid, Mercon V or equal					
	12 / 1-quart case, price per quart Price Total	362	\$3.38 \$1,223.56	\$3.70	\$4.49 \$1,625.38	No Bi
	Product Name		Versa Tran	\$1,339.40 Motorcraft Mercon V	Valvoline	
	Product Number Manufacturer		1056095 Conoco	XT5QMC Motorcraft	360 Valvoline	
	Prompt Payment Discount		0%	0%	2%	
	Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid		\$1,223.56	\$1,339.40	\$1,592.87 30.1834%	
	Price Differential		L		\$369.31	
4i	Synthetic Transmission Fluid Allison TES 295	2 205	ênn 75	ê00 55	6 04.00	\$21.2
	55 gallon drum, price per gallon Price Total	2,205	\$33.75 \$74,418.75	\$29.55 \$65,157.75	\$31.36 \$69,148.80	\$46,878.3
	Product Name Product Number		Spirax S6295 SHBPR295	BP Autran Syn 295 59516	Castrol 709701	Triton Heavy Duty ATI 40100
	Manufacturer		Shell Oil	BP-Castrol	Castrol	76 Lubricant
	Prompt Payment Discount Total Cost with Prompt Payment Discount		0% \$74,418.75	0% \$65,157.75	2% \$67,765.82	09 \$46,878.3
	Percentage between lowest responsible bid and local bid Price Differential				44.5569% \$20,887.52	
					ψ20,007.02	
4j	VersaTrans LV ATF Automatic Transmision Fluid 55 gallon drum, price per gallon	440	\$18.11	\$12.91	\$19.09	\$14.0
	Price Total Product Name		\$7,968.40 Versa Tran	\$5,680.40 Valvoline Maxlife ATF	\$8,399.60 Valvoline	\$6,182.0 VersaTrans AT
	Product Number		1061593	VV326	326	40334
	Manufacturer Prompt Payment Discount		Conoco 0%	Valvoline 0%	Valvoline 2%	Conoco Phillip
		1	\$7,968.40	\$5,680.40	\$8,231.61	
	Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid		\$7,908.40	\$3,080.40	44.9125%	

Opened:	December 16, 2015]			
For:	Annual Contract for Lubricants - Rebid		NON-LOCAL	NON-LOCAL	LOCAL	NON-LOCAL
			Arguindegui Oil Company	Arnold Oil Company of Austin, LP	Genuine Parts Company	Hays City Corp dba Tex-Con Oil Co.
61000068	898	VF	15600 San Pedro Ave.	5909 Burleson Rd	6374 Rittiman Rd	4906 Burleson Rd
ltem	Description	Estimated Annual Quantity	San Antonio, TX 78232 210-667-3004	Austin, TX 78744 512-476-2401	San Antonio, TX 78218 210-661-7700	Austin, TX 78744 512-441-1941
	VersaTrans LV ATF Automatic Transmision Fluid 12 / 1-quart case, price per quart Price Total Product Number Manufacturer Prompt Payment Discount Total Cost with Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	3,240	\$3.59 \$11,631.60 Versa Tran 1061410 Conoco 0% \$11,631.60	\$3.91 \$12.668.40 Valvoline Maxife ATF VV3246 Valvoline 0%	\$5.25 \$17,010.00 Valvoline 324 Valvoline 2%	\$4.34 \$14,061.60 VersaTrans ATF 403155 Conoco Phillips
	Mercon LV or equal 55 gallon drum, price per gallon Price Total Product Name Product Number Manufacturer Prompt Payment Discount Prompt Payment Discount Percentage between lowest responsible bid and local bid Price Differential	1,000	\$17.17 \$17,170.00 Versa Tran 1055514 Conoco 0% \$17,170.00	\$12.66 \$12.660.00 Motorcraft LV ATF XT10DLV Motorcraft 0% \$12,660.00	\$36.36 \$36,360.00 Royal Purple USBPGREEND Royal Purple 2% \$35,532.80 181.4597% \$22,972.80	
	Mercon LV or equal 12 / 1-quart case, price per quart Price Total Product Name Product Number Manufacturer Prompt Payment Discount Porcentage between lowest responsible bid and local bid Price Differential	3,240	\$3.38 \$10,951.20 Versa Tran 1056095 Conoco 0% \$10,951.20	\$3.78 \$12,247.20 Motorcraft LV ATF XT10QLVC Motorcraft 0% \$12,247.20	\$19,407.60 Peak A7FUNIV Old World Industries 2%	
	Delivery		2 Days	2 Days	2 Days	3 Days
	Terms		Net 30	Net 30	2% 10 Days	Net 30
	Estimated Annual Total					
	Estimated Annual Award		\$375,086.36	\$75,145.90	\$221,533.39	\$159,411.49